

Maisonette Duplex in Sliema



Sliema, Sliema and St Julians Surroundings



€850,000

Reference No: 240171042-806

 Total Rooms: **10**

 Floor Area (m²) : **132**

 Bathrooms: **2**

 Bedrooms: **3**

Maisonette Duplex - For Sale - Sliema

SLIEMA - DUPLEX MAISONETTE - Within UCA (Urban Conservation Area) and walking distance from the Strand. Comprising of Kitchen/Living/Dining upon entrance, 3 Bedrooms (master with Walk-in Wardrobe), 2 Bathrooms, roof and a Laundry room. Freehold and Furnished. Contact the agent for more information.

Features

- ✓ Ceramic Floor
- ✓ Electricity Utility
- ✓ A/C
- ✓ Double Glazed
- ✓ Roof Terrace
- ✓ Walk in Wardrobe
- ✓ PVC Piping
- ✓ Skirting
- ✓ Court Yard

Rooms

- ✓ Kitchen : 3 x 2 m (6 m2)
- ✓ Dining : 2.6 x 3.5 m (9.1 m2)
- ✓ Living : 3 x 2.7 m (8.1 m2)
- ✓ Double Bedroom : 3 x 5 m (15 m2)
- ✓ Double Bedroom : 2.7 x 2.7 m (7.29 m2)
- ✓ Double Bedroom : 2.6 x 2.8 m (7.28 m2)
- ✓ Walk In Wardrobe : 3 x 4.5 m (13.5 m2)
- ✓ Laundry : 3 x 2 m (6 m2)
- ✓ Hallway : 1.3 x 6 m (7.8 m2)
- ✓ Hallway : 2 x 5.6 m (11.2 m2)
- ✓ Landing : 3 x 2.7 m (8.1 m2)
- ✓ Bathroom : 2.1 x 2.4 m (5.04 m2)

- ✓ Guest Toilet : 1.5 x 1 m (1.5 m²)
- ✓ Open Space : 5.5 x 3.6 m (19.8 m²)
- ✓ Open Space : 1.5 x 1.5 m (2.25 m²)

Gallery





Shaun Vassallo

RE/MAX Specialists - Tigne Point

M: 99846411

E: vassallos@remax.com.mt

T: 22265300

RE/MAX Specialists - Tigne Point

RU21A, The Point Shopping Mall, Tigne Point, Sliema, Malta